ROBIERT, [ INOXFICEEUEE, FHERMERD K.
(&5 % 3]

(1) 7ax’y* [x, y]

(2) 2abxy [x]

(3) -3d’xy’ [y]

ROZERT, [ INOXRICEALESE, REERD K, [%515x2]

(1) 2%y —2%"+5y" [x, y]

(2) 3x'-7+x+6 [x]

ROBXOFSEEZF EHTEEL &L, (455 x 2]

(1) 10x—8a—3x+5a

(2) 5a’y—6xy’ — 4ay — 3xy”

RORE, x[CONTHEREDIEICEIEE Ko (4514 %3]

(1) 3-2"+2°—7x

(2) 9x—1+6x"-7—2"—1lx

(3) a*y—3xy*+8"—2y°—x
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ESii=1 < A =

e N s v 751 .EE% ’%II\\
|2 | Etoiz - -5 gl

A=5x—x"+6, B=x"+8x—1D&EE, RDEDERSD K.  [£454x2]

(1) A+B

(2) A-B

A=5x"—2x+1, B=x’—x—8, C=—2x>~Tx+6DEE, RDHDER

H&o (451 % 2]
(1) A-B+C
(2) 24+3B-C
ROSEEE &Ko [45 x 3]

(1) 3a%y* x4xy®

(2) (3a)"

(3) Ba*yx (—2xy")°

ROXEREE &Ko [455 x 3]

(1) 3x(2x*—x+3)

(2) (3a-2)(d*—2a-5)

(3) (2x*+x-3)(1-x)

R TFAMIT—2



ESii=1 < A =

@ DL

ROXERHE &Ko (%54 %3]

(1) (Bx+2y)°

(2) (4a—3b)*

(3)  (5x+2y) (5x—2y)

RORZERE &Ko (%525 x 4]

(1) (x+6)(x+1)

(2) (x—T7y) (x+2y)

(3) (3x+4) 5x+2)

(4) (2x—y) (Bx+5y)

ROXEREE &Ko (451 % 3]

(1) (*+a+1)(®+a-1)

(2) (P+2x+3) (¥ —2x+3)

(3) (*+ab+b%) (a*—ab+b)
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ESii=1 < A =

ROKEFRMHBEYE K. (%5 x 4]

(1) 2a*-3ab

(2)  4a®y’ - 6xy*

(3) (a—2b)x— (a—2b)y

4) (a=b)x—(b=a)y

ROREFEHSEYE &Ko (%52 x 3]

(1) 2*+10x+25

(2) 16a°-24a+9

(3) x*—49y°

RO EEMDEYE &Ko (%524 x 3]

(1) 2*—9x+20

(2) 2x*+13x+15

(3) 124" —xy—6y°
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